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{c) Bureaucracy
rerard]

(d) Position of a Governor in a State
e | R R .

(e) India’s per capita income growth
9ra # wfa =afe oma § iy

(/’ Monetary measures to control inflation
grrehifa w Efe w0 % A s

(g) Political condition of Jharkhand after its
emergence
PGS TST & I & UvaTq, Ul
feufa :

(h) Zero hour
A i

SECTION—A
g ug—&h
2. (a) How is the President of India elected?

9ra # ugufa w1 g FH T ¥7

(b) Discuss, in brief, the position and
powers of the Vice-President of India.
Id % Iqugufa it wfe ot feufe & daw o
foa=m =i

12Y—4000/12 ( Continued )

(2)

o

10.

(7))

{a) What do you understand by genome

(b)

technology? How is it useful in medical
field?

S qeiies @ 31w gWea 87 Tl & &
T g = i 27

What do you understand by stem cell?
How can it be used in medical science?
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(b)

(c)

(@)

6. (a)

12Y—4000/12

(4)

SECTION—B
QUs—@

Explain the causes of unemployment
in India.

aRa A SUSIT F FRON Y AT

“Naxalism has emerged as the greatest
challenge before the Law and Order of

- Jharkhand.” Justify the statement.

“THICETE @S o HA AT & THE Tl
€ A s ama ond R @ wE A gl
H

muxm&mc.n the law of diminishing returns.
What are its limitations?

Feafy-gra faw 6 e wt @ ded w0
g

What is globalization? What impact has
it made on Indian economy?

Syeftertor R 27 WKa F refraedn W gHH A
quE UST 87

What do you mean by global commune?
Give suggestions for the preservation of
global commune.

Afvas G w1 w27 ofves W %

e % fod U gam)

10

10

10

10

10

( Continued )

(b)
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What steps have been initiated to
conserve wildlife in Jharkhand?

YES § g3-Slad WmEn & o eH-en |
weH I3@ T F?

Discuss India-Bangladesh dispute.
Ra-araey faae @i fae=m #

Why is the speed of industrial
development slow in Jharkhand in
spite of having so much of natural
wealth? Discuss.

IRES # Wipfae gweE il TgaT & e
sfenfirs e ) nify fisft =it &7 e )

Describe various types of soil in India.
i o i S areft fafi wer i frgt @ aoe
H :

What is poverty? Describe the measures
initiated in India for eradication of
poverty. .

fredar 0 37 fredaar-3aEa & R wwa 7 g
R M FRiEE i wmEn

How does a public undertaking
contribute to the economic development
of a country? Explain.

et 2 % anffw faem # gEefs &3 ¥4
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